NATS 101





Name_______________________________
Optional Assignment
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1.
Objects A and B at right have the same weight.


Object A has larger _______, smaller _______,


but the same _______ than(as) Object B.


a. composition

b. volume


c. mass


d. density

2.
Atmospheric carbon dioxide concentrations vary over the course of a year and probably 
also 
change slightly during the day.  Would you expect to observe the highest CO2 concentrations 
during the  DAY  or at  NIGHT?
[image: image2.jpg]



3.
Based on the air density information shown


(graphically) in the figure at right, the air


pressure at Point A is  GREATER  EQUAL


LESS  than(to) the pressure at Point B.  The


pressure at Point C is  GREATER  EQUAL


LESS  than(to) the pressure at Point D.  (you 


can assume all the layers have the same thickness)

4.
The world's worst air pollution disaster occurred in _______.


a. London
b. Los Angeles
c. Mexico City

d. New York

e. Tokyo

5.
Would a surface temperature inversion layer be more likely when the ground is  COLD  or  
WARM?

6.
Thunderstorms grow to a height of about  _______  kilometers high.  (fill in the blank with 1, 10, 
100, or 1000)

7.
Which of the following are found between 0 and 50 km altitude (more than one answer)?


a. ionosphere


b. mesosphere


c. ozone layer


d. stratosphere


e. thermosphere

f. troposphere

8.
_______ and _______ are units of mass

a. kilograms
b. millibars
c. Newtons
d. pounds
e. slugs

9.
Because it can reduce visibility, _________________________ 
pollution is often the most 
noticeable.
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10
Materials like wood that float in water have a 


density  GREATER  LESS  than water.  Materials

like rocks that sink have a density that is


GREATER  LESS  than water.

11.
When the dew point temperature is 65o F the atmospheric _____________________ 
concentration is about 2%.  When the dew point temperature and the ____________________ 
are equal the relative humidity is 100%.
12.
Bicycles tires on a "road" bike are normally inflated to a pressure of 90 psi or so.  About how 
many bars of pressure would that be?

13.
The atmosphere is split into layers (troposphere, stratosphere, mesosphere, etc) according to how 
_______ changes with altitude.
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a. composition

b. density

c. pressure

d. temperature

14.
The figure at right shows fluxes of carbon 


dioxide into and out of the atmosphere.


Based on the information in the figure would


you expect the atmospheric CO2 concentration


to  INCREASE,  DECREASE,  or  remain


CONSTANT  over time?

15.
Average sea level pressure is about __________ 
millibars which is about 30 inches of mercury.  
A pressure reading of 900 mb (10% lower) 
would be about __________ inches of mercury.  

16.
Water vapor is an invisible gas.  We can see clouds because clouds are composed of 
_______________ and/or _______________.
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17
Variables _______ and _______ would be found in the

numerator of Newton's Law of Universal Gravitation.


_______ is found in the denominator and _______ is not


in the equation.

